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Anode voltage vs Beam current@gun out 2/6/99%
mesured by wall current monitor

cathode assembly : e-mac Y845

pulse width : 40ns

bias voltage : 60V
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Anode voltage vs Beam current@gun out 2/6/99
mesured by wall current monitor

cathode assembly : e-mac Y845

pulse width : Ins

bias voltage : 60V
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Characteristic measurement of 1ns grid pulser
after EM change
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Grid bias voltage vs Beam current@gun out 2/6/99
mesured by wall current monitor

cathode assembly : e¢-mac Y845

heater voltage : 6.0V, heater current : 1.4A

anode voltage : 180KV ® 60V Pulse Voltage
1st helmholtz coil : 3A [ ] 80V Pulse Vaoltage
® 100V Pulse Voltage
60— T T 1 T T T T —e— 120V Pulse Voltage —
® 140V Pulse Vaoltage :
.\ o— 160V Pulse Voltage -
r —@&— 180V Pulse Voltage 7
5.0 - ““'“‘.ﬁ_______ A
L -----_"'---. -_H““-\_. 1
bea - H‘.-qq_______q_
4.0 — S =
—_ - ™ .
= T g -
- r il
2 L Bl - % 454
= 3.0 E * - v
= T——
£ | - T L
3 Lo L i 5
£ 2.0 - = =
I > S,
L o Lo
TR T =~ e
1.of oy - == =
= .
0.0 E U PR T TR PO (T T [ T PR (- oy SR S S (oo [y o E ST e R i
50 100 150 200

Grid bias voltage [V]

01.0000000000000b00b00b0D0bounogninsbeamdd



guobuobboooouooobogoooobbboooooobobbbuoooa
goobbobobbooooguoeovooooooobbbbooooooobobbobog
gubobobooooooobbouoooobobobbuoooobooobd

Heater power vs Beam current@gun out 2/6/99
mesured by wall current monitor

cathode assembly : e-mac Y845

pulse width : 40ns

anode voltage : 180kV

bias voltage : 60V
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